
R-mount to PL adapter MKII

0900-0060
Version Date: 04/11/2022 08:54

Vocas Systems b.v. info@vocas.com www.vocas.com Page: 1/1

Item No. Part Number Qty Description
1 10.080.03 1 R-mount Rear unit

2 10.033.05 1 PL front unit

3 10.032.05 1 PL lock ring

4 10.035.03 1 LM lock shifting ring

5 10.036.06 1 PL mount cap

6 10.026.01 1 Screw M2x2 DIN84 RVS (head 2,4mm)

7 10.025.01 1 Screw M2X3 DIN 912 A2-70 (Head 2,98x1,75)

8 744003 1 Screw M2X5 DIN965 4.8 ZN Z

9 01.038.01 6 Screw M2,5X8 DIN912 A2 70

10 10.027.01 3 Screw M3x4 DIN 914 A2

11 10.020.01 1 Shim PL 0,0125mm

12 10.021.01 1 Shim PL 0,025mm

13 10.022.01 1 Shim PL 0,05mm

5 8 3 9 72 4 10 11 12 13 1 6


